Adding/Subtracting Decimals (G)

78.92 —4.92 =

52.32+2.13 =

94+12=

21.89 — 21.26 =

244 —6.65 =

5.49 — 2.5 =

9.1-5.34 =

77.12 —63.5 =

70.5+7.67 =

3.9 —3.7=

Calculate each sum or difference.

774414 =

84.3 +8.20 =

73.8+5.29 =

1542 - 1.6 =

70.7 - 6.4 =

6.7+ 5.15 =

64.42 — 7.50 =

6.35 +4.5 =

9.2 —-7.87=

95.5 +84.12 =
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Adding/Subtracting Decimals (G) Answers

Calculate each sum or difference.

78.92 —-4.92 =74 7.744+14=9.14
02.32 + 2.13 = 54.45 84.3 4+ 8.20 =92.5
94+12=106 73.845.29 = 79.09
21.89 — 21.26 = 0.63 1542 —1.6 = 13.82
244 —-6.65=17.75 70.7 — 6.4 =064.3
5.49 —25=2.99 6.7+ 5.15=11.85
9.1—-5.34=3.76 64.42 — 7.50 = 56.92
77.12 —63.5 = 13.62 6.35 + 4.5 = 10.85
70.5 4 7.67 = 78.17 92 —-787=133
3.9-37=0.2 95.5 4+ 84.12 = 179.62
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